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QUESTION 1

Which of the following are features of the SandOP process templates? Note: There are 2 correct Answers to this
question. 

A. The number of steps in a process template is the same for all implementations. 

B. Each step depicted in the template can have tasks associated with it. 

C. All process templates are assigned to dashboards. 

D. New instances of templates allow for re-use of the same processes again. 

Correct Answer: BC 

 

QUESTION 2

Which of the following data can be tracked using a change-history-enabled key figure? Note: There are 3 correct
Answers to this question. 

A. Reason code 

B. Scenario ID 

C. Attributes 

D. Key figure type 

E. Modified date 

Correct Answer: ACE 

 

QUESTION 3

You are modeling the introduction of a new product using Lifecycle Planning functionality in SAP IBP. What is
mandatory to create in your planning area for the setup of reference product(s) to work? Note: There are 2 correct
Answers to this question. 

A. Planning objects for the new product 

B. Definition of an attribute representing the product ID 

C. Definition of Actual Sales business meaning for one key figure 

D. Definition of an attribute representing the product description 

Correct Answer: AB 

 

QUESTION 4
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Why would you set up a cascading filter in the planning view? Note: There are 2 correct Answers to this question. 

A. To filter attributes based on other attribute filters 

B. To filter using attributes that have a large number of values 

C. To filter data in an Application Job template 

D. To filter attributes based on specific values 

Correct Answer: AB 

 

QUESTION 5

While modeling costs for optimization, you are conscious of the necessity to respect inventory targets and meet
demands in the short term. Which of the following are valid relationships between costs you must adhere to? Note:
There are 2 correct Answers to this question. 

A. Target inventory violation cost should be less than max inventory violation cost. 

B. Target inventory violation cost should be greater than discount for demand lateness. 

C. Target inventory violation cost should be less than transportation cost rate. 

D. Target inventory violation cost should be greater than inventory holding cost rate. 

Correct Answer: CD 
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